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QUESTION 1

Which two software packages are included in vCenter Server Appliance? (Choose two.) 

A. vSphere Update Manager extension 

B. PostgreSQL database 

C. vSphere Data Protection extension 

D. vSphere Replication extension 

E. AppDefense extension 

Correct Answer: AB 

 

QUESTION 2

A vSphere administrator has the privilege Content library > Add library item on the vCenter object, but is unable to add
items to a local content library. 

How would the vSphere administrator correct this? 

A. Remove the No Access role on the vCenter object. 

B. Restart the Content Library Service. 

C. Assign the privilege to the global root object. 

D. Reboot the vCenter Server Appliance. 

Correct Answer: C 

 

QUESTION 3

What of RAM required by ESXi 6.7? 

A. 512MB 

B. 2GB 

C. 4GB 

D. 8GB 

Correct Answer: C 

 

QUESTION 4

2V0-21.19D VCE Dumps | 2V0-21.19D Practice Test | 2V0-21.19D Braindumps                                2 / 7

https://www.pass2lead.com/2v0-21-19d.html
https://www.pass2lead.com/2v0-21-19d.html
https://www.pass2lead.com/2v0-21-19d.html


https://www.pass2lead.com/2v0-21-19d.html
2023 Latest pass2lead 2V0-21.19D PDF and VCE dumps Download

This error is generated when a vSphere administrator takes a VM snapshot: 

An error occurred while taking a snapshot: Failed to quiesce the virtual machine 

What should the administrator investigate to determine the cause of the failure? 

A. Check if the virtual machine is already running on snapshots. 

B. Check if the virtual machine is in suspended state. 

C. Check if VMware Tools is installed on virtual machine. 

D. Check if the virtual machine has an ISO mounted. 

Correct Answer: C 

 

QUESTION 5

What should be installed on a VM to assist with VM-to-host time synchronization? 

A. VMware Tools 

B. vRA guest agent 

C. vROps agent 

D. Guest Operations Manager 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.vm_admin.doc/GUIDC0D8326A-
B6E7-4E61-8470-6C173FDDF656.html 

 

QUESTION 6

Which two options ensure all ESXi servers are protected from unsigned code? (Choose two.) 

A. VM Encryption 

B. vTPM 

C. UEFI Secure Boot 

D. TPM 

E. vSAN Encryption 

Correct Answer: CD 

 

QUESTION 7
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An administrator runs vSphere Infrastructure in the following configuration: 

1.

 Single vCenter 

2.

 Multiple data centers 

3.

 Multiple clusters under each data center, all with identical hardware The administrator wants to use host profiles to
manage the hosts. Where should the administrator attach the host profile? 

A. vCenter object 

B. each cluster 

C. each data center 

D. each folder 

Correct Answer: B 

 

QUESTION 8

An administrator enables DRS and sets the automation level to Fully Automated. DRS is only making initial placement
recommendations. 

What is causing this? 

A. DRS is set to aggressive 

B. HA is disabled on the cluster 

C. The VMS have virtual flash reservations 

D. vMotion network is misconfigured 

Correct Answer: A 

 

QUESTION 9

An administrator decides to implement vSphere networking using the VDS. 

Which binding option should the administrator use to manage the VMs if vCenter becomes unavailable? 

A. static 

B. port 

C. ephemeral 
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D. dynamic 

Correct Answer: C 

Reference: https://kb.vmware.com/s/article/1022312 

 

QUESTION 10

An administrator is deploying a new mission critical database. The database requirements are 12 vCPUs and 24GB of
RAM. 

What can the administrator enable for the lowest possible downtime? 

A. DRS 

B. vSphere replication 

C. fault tolerance 

D. proactive HA 

Correct Answer: D 

 

QUESTION 11

A vSphere administrator is trying to create a resource pool but the option is grayed out. 

What must be enabled before creating a resource pool? 

A. DRS 

B. Storage DRS 

C. EVC 

D. HA 

Correct Answer: A 

Reference: https://kb.vmware.com/s/article/1004098 

 

QUESTION 12

Which setting should be used to exclude one hard disk from VM snapshots? 

A. Thin Provision disk type 

B. Dependent disk mode 

C. Independent disk mode 
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D. Passthrough device mode 

Correct Answer: C 

 

QUESTION 13

A vSphere administrator wants to enable Proactive HA in a vSphere cluster. What is required to use this feature? 

A. vROps must be installed. 

B. DRS must be enabled. 

C. DCUI must be enabled. 

D. VCHA must be configured. 

Correct Answer: B 

 

QUESTION 14

A VM is created with a thin provisioned disk. 

Which two requirements are needed to inflate the disk? (Choose two.) 

A. Right click.vmx and select Inflate 

B. Right click.vmdk and select Inflate 

C. Reboot the VM 

D. Power off the VM 

E. Edit the .vmdk file 

Correct Answer: BD 

 

QUESTION 15

A vSphere administrator is installing ESXi 6.7 on a diskless host booting from an onboard 8GB SD card. 

What should be done to ensure log files are persisted through a host reboot? 

A. Manually create scratch partition on the SD card 

B. By default the log files will be stored on the SD card 

C. Ensure vCenter Dump Collector service is running 

D. Configure the scratch partition to use an available datastore 

Correct Answer: D 
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